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CAddiﬁon Word Problems

Answer the questions. Show your work.

1. Lee sees 14 birds.
Abby sees 23 birds.
How many birds did they see in all?

Answer:

Preview

Please log in to download
the printable version of this worksheet.

She finds 4 more:
How many keys does she have now?

ANswer:

4. Ted picks 27 apples.
Pat picks 40 apples.
How many apples do they have in all?

Answer:
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ANSWER KEY

CAddiﬁon Word Problems

Answer the questions. Show your work.

1. Lee sees 14 birds.
Abby sees 23 birds.
How many birds did they see in all?

Answer: 37 birds

Preview

Please log in to download

the printable version of this worksheet.

She finds 4 more:
How many keys does she have now?

Answer: 37 keys

4. Ted picks 27 apples.
Pat picks 40 apples.
How many apples do they have in all?

Answer: 67 apples
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